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Aufgabe 1

Fiille die Felder dieser Rechenkette aus wie im Beispiel a).

a) 71 23 74 =15 59 13, 62 2L, 9

b) 68 1% -, 22, 9,
¢) 50 = & A% 3,
d) 45 —i—17> 5> 19> 15>
e) 31 2% =2 S8
£ 33 =28 A 4 5
g) 20 =% 2% B 3

hy 29 =% 3 3 AL
)35 2L 2 2B -0
jos 4 AL 5 38

Aufgabe 2

Fiille die Felder dieser Rechenkette aus wie im Beispiel a).

a) 64 15 79 =8 71 =10 61 =1 47
by 47 =12 A5, A 2

¢) 38 =2 R =X
4y 39 % LA 2

e) 392 +17 _2> —18> —10
f) 45 —|—15> —14, _2> 23
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¢) 56 =5 +5, +10, 9,
) 45 0, 3 20 2
)50 =26 2o A 8
j o5 8, 2 2 o9

Aufgabe 3

Fille die Felder dieser Rechenkette aus.

a) 28 =% 4 =6 X2
b) 28 15 -5, S N
c) 23 +6/ —1> +2> +2>
4y 35 =% A6 A0 6
e) 25 =5 B x3 =3,
f) 31 —4> —|—3> +6> x10
g) 23 = X =2
h) 31 —1> +1> +8> +13>
)32=% Hoox =l
o= o2 22
Aufgabe 4

Fiille die Felder dieser Rechenkette aus wie im Beispiel a).

a) 95 —25 68 2

b) 137 =%

¢) 61 =%
d) 139 18,

e) 88 122,

—24

f) >
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4 2
2,136 34 170 22 172 3 86 -5 172
+18, 46, 33, 33 +11
Ay A ga 1L +26, T,
2 1 : -1 .
0, 137 +15 76 6 6
— 11 1 : .
ELN ; 5, EA
-1-25> i) :39 4 _2> -13 2
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g T5 = 2

h) —12) Jr15>
e

: —34 +31,

J) 7 d

Viel Erfolg!
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